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#include <iostream>
#include <fstream>
using namespace std;

class GF256
{
private:
unsigned char num;

public:
GF256() : num(0) {}
GF256(int n): num(n) {}
GF256 operator+(const GF256 &b);
GF256 operator-(const GF256 &b);
GF256 operator*(const GF256 &b);
GF256 operator/(const GF256 &b);
GF256 operator=(const int b);
operator int();
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inline GF256 GF256::operator+(const GF256 &b)
{

return(GF256 (num ~ b.num));
}

inline GF256 GF256::operator-(const GF256 &b)
{
return(GF256 (num ~ b.num));

unsigned char yO = (aOb) "~ (alb<<1) "~ (a2b<<2) " (a3b<<3) " (a4b<<4) " (abb<<5) " (abb<<6) " (a7b<<7);

}

GF256 GF256::operator*(const GF256 &b)

{
unsigned char a7b = (num & 0x80)? b.num: O;
unsigned char a6b = (num & 0x40)? b.num: 0;
unsigned char abb = (num & 0x20)? b.num: O;
unsigned char a4b = (num & 0x10)? b.num: 0;
unsigned char a3b = (num & 0x08)? b.num: O;
unsigned char a2b = (num & 0x04)? b.num: O;
unsigned char alb = (num & 0x02)? b.num: 0;
unsigned char aOb = (num & 0x01)? b.num: 0;
unsigned char y1 = (alb>>7)"(a2b>>6) "~ (a3b>>5) " (adb>>4) " (abb>>3) ~(abb>>2) " (a7b>>1) ;
unsigned char p = y0;
p "= (y1 << 4) & 0xf0;
p "= (y1 << 3) & 0xf8;
p "= (y1 << 2) & Oxfc;
p "= (y1 >> 0) & 0x0f;
p "= (y1 >> 1) & 0x08;
p "= (y1 >> 2) & 0x14;
p "= (y1 >> 3) & 0x04;
p "= (y1 >> 4) & 0x03;
p "= (y1 >> 5) & 0x03;
p "= (y1 >> 6) & 0x01;
return(GF256(p)) ;

}

GF256 GF256::operator/(const GF256 &b)
{

unsigned char c[8];

unsigned char e[8];

c[7] = (b.num << 0) ~ (b.num >> 4) ~ (b.num >> 5)
c[6] = (b.num << 1) ~ (b.num >> 3) ~ (b.num >> 4)
c[5] = (b.num << 2) ~ (b.num >> 2) ~ (b.num >> 3)
c[4] = (b.num << 3) ~ (b.num >> 1) ~ (b.num >> 2)
c[3] = (b.num << 4) =~ (b.num >> 1) ~ (b.num >> 2)
c[2] = (b.num << 5) ~ (b.num >> 1) ~ (b.num >> 3)
c[1] = (b.num << 6) ~ (b.num >> 2) ~ (b.num >> 6)
c[0] = (b.num << 7) ~ (b.num >> 1) ~ (b.num >> 5)
for (int i = 0; i < 8; i++){
e[i] = !"'"(num & (1 << i));
}

for (int i = 0; i < 8; i++){
int j;

for (j =1i; j <8 && !'(c[jl & (1 << 1)); j+H){

H

}

if (j >= 8){
cout<<"divided by 0"<<endl;
exit(1);

}

unsigned char tmp;
tmp = c[i], c[i] = c[jl, <c[j] = tmp;
tmp = el[i], e[i] = e[jl, e[j]l = tmp;
for (j = 0; j < 8; j++){
if (1 '=j && (c[j]l & (1 << i))){
cljl == clil;
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elj]l "= elil;

}

}

unsigned char div = 0;

for (int i = 0; i < 8; i++){
div |= (e[i])7 0x80 >> i: 0;

}

return(GF256 (div)) ;

}

inline GF256 GF256::operator=(const int b)
{

num = (unsigned char)b;

return(*this);
¥
inline GF256::operator int()
{
return((int)num) ;
¥

template<typename TYPE>
class matrix

{
private:
int size;
TYPE *elem;
public:
matrix();
explicit matrix(int s){
size = s;
elem = new TYPE[s * s];
return;
}
matrix(const matrix<TYPE> &s){
size = s.size;
elem = new TYPE[s.size * s.sizel;
int elements = size * size;
for (int k = 0; k < elements; k++){
elem[k] = s.elem[k];
}
return;
“matrix(){
delete[] elem;
return;
¥
TYPE &e(int j, int i);
matrix<TYPE> &unit(void);
matrix<TYPE> &operator=(const matrix<TYPE> &b) ;
matrix<TYPE> operator”(void);
matrix<TYPE> operator*(const matrix<TYPE> &b);
int rank(void);
TYPE vector(int i, TYPE *v);
};

template<typename TYPE>
inline TYPE &matrix<TYPE>::e(int j, int i)
{

return(elem[j * size + il);

}

template<typename TYPE>
matrix<TYPE> &matrix<TYPE>::unit(void)
{

for (int j = 0; j < size; j++){
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for (int i = 0; i < size; i++){
elem[j * size + i] = (i == j)7 TYPE(1): TYPE(0);
}
}
return(*this);

}

template<typename TYPE>
matrix<TYPE> &matrix<TYPE>::operator=(const matrix<TYPE> &b)
{
if (b.size == size){
int elements = size * size;
for (int k = 0; k < elements; k++){
elem[k] = b.elem[k];
}
}
return(*this);

}

template<typename TYPE>
matrix<TYPE> matrix<TYPE>::operator~ ()
{

matrix<TYPE> a(size);

matrix<TYPE> b(size);

a = *this;

b.unit();

for (int k = 0; k < size; k++){
TYPE t = a.e(k, k);
for ( int m=k+1; (int)t==0 && m < size; m++){
for( int i = 0; i < size; i++){
a.e(k,i)=a.e(k,i)+a.e(m,i);
b.e(k,i)=b.e(k,i)+b.e(m,1);
}
t = a.e(k, k);
}

if ((int)t==0){
cout<"OOODOO0O0O0O00O0O0O0O0DOODO"<<endl;
}

for (int i = 0; i < size; i++){
a.e(k, i) = a.e(k, i) / t;
b.e(k, i) = b.e(k, i) / t;
¥
for (int j = 0; j < size; j++){
it (5 1= 0{
t = a.e(j, k);
for (int i = 0; i < size; i++){
a.e(j, 1) = a.e(j, i) - a.e(k, i) * t;
b.e(j, i) = b.e(j, i) - b.e(k, i) * t;

¥
}
return(b);

}

template<typename TYPE>
matrix<TYPE> matrix<TYPE>::operator*(const matrix<TYPE> &b)
{
matrix<TYPE> prod(size);
for (int j = 0; j < size; j++){
for (int i = 0; i < size; i++){
TYPE e = elem[j * size] * b.elem[i];
for (int k = 1; k < size; k++){
e = e + elem[j * size + k] * b.elem[k * size + il;
}

prod.elem[j * size + i] = e;
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}
}
return(prod) ;

}

template<typename TYPE>
TYPE matrix<TYPE>::vector(int i, TYPE *v)

{
TYPE ans;
ans = TYPE(0);
for (int j = 0; j < size; j++){
ans = ans + elem[i * size + j] * v[jl;
}
return(ans) ;
}

template<typename TYPE>
int matrix<TYPE>: :rank(void)
{

matrix<TYPE> x(size);

x = xthis;

for(int i=0; i<size; i++){
for(int m= i+1l; m < size && (int)x.e(i,i)==0; m++){
for(int n=0; n < size; n++){
x.e(i,n)=x.e(i,n)+x.e(m,n);
}
}

TYPE a = x.e(i,i);

if ((int)a!=0){
for(int j=0; j<size; j++){
x.e(i,j) = x.e(i,j)/a;

}

for(int k=0; k<size; k++){
if(it=k){
TYPE b = x.e(k,1);
for(int 1=0; l<size; 1++){
x.e(k,1)=x.e(k,1) - (b*x.e(i,1));

}
}
}
}
}
int r = 0;
int v = 0;

for(int n=0; n<size; n++){
for(int m=0; m<size;m++){
int ¢ = (int)x.e(n,m);

if (c!=0){
v =1;
}
}
if (v==1){
r++;
}
if (v>1){
cout"OOOOOOOOOOOODOD "<<endl;
}
v=0;
}
if (r>size){
cout«"OOOOOOOOOODOO"<<endl;
}
return(r) ;
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#include <iostream>
#include <fstream>
#include "gfmatrix.h"
using namespace std;

int main()

{

GF256 a,b,c,d,e,s;

int p;

a = 26;

b = 5;

c = 156;

d = 200;

e = 90;

s = 64;

GF256 x,y;

int n=7;

int k = 0;

ofstream fileout;

ifstream filein;

cout<«n<"O O O0OO0OO0O0O0ODOODONO"<<endl;

fileout.open("share.txt");

fileout<<n<<endl;

do{
cout<<k+1<"O DO OO OO O "<<endl;
cout"XO0OOOODOOOOODOO "<<endl;
cin>>p;
x = GF256(p);
cout«<"YO O OOOOOOOOODO "<<endl;
cin>>p;
y = GF256(p);
GF256 z = a*x*x + b¥x + cxxxy + dky + exyxy + s;
fileout<<(int)x<<" "<<(int)y<<" "<<(int)z<<endl;
k++;
cout<<"————————— X="<<(int) x<<",¥="<<(int) y<<" - —==——=—— "<<endl;

}while(k<n);

fileout.close();

return O;

¥

B3 0D00O000O0O0OO0OOOODOOODOOODODOODOODOODODODOOD

#include <iostream>
#include <fstream>

#include"gfmatrix.h"
using namespace std;

GF256 t3(GF256 x1, GF256 yl1, GF256 zl1, GF256 x2, GF256 y2, GF256 z2, GF256 x3, GF256 y3, GF256 z3)

{
matrix<GF256> p(3);
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p.e(0,0)=x1;
p.e(0,1)=y1;
p.e(0,2)=0;

p.e(1,0)=x2;
p.e(1,1)=y2;
p.e(1,2)=0;

p.e(2,0)=x3;
p.e(2,1)=y3;
p.e(2,2)=0;

cout<<" ("<<x1<<" "<y 1<), ("<<x2<<M, <<y 2<<M) , (M<<x3<<M, '<y3<<") 0 0 00000 "<<endl;
matrix<GF256> v(3);

v.e(0,0)=x1*x1;

v.e(0,1)=x1;

v.e(0,2)=1;

v.e(1,0)=x2*x2;

.e(1,1)=x2;
v.e(1,2)=1;

<

v.e(2,0)=x3*x3;
v.e(2,1)=x3;
v.e(2,2)=1;

matrix<GF256> w(3);
w="v;

GF256 *z = new GF256[3];
z[0]=z1;
z[1]=2z2;
z[2]=23;

GF256 S=w.vector(2,z);
cout<<"S="<<S<<endl;
delete z;

return(0) ;

int 1ine(GF256 x1, GF256 yl1, GF256 x2, GF256 y2, GF256 x3, GF256 y3, GF256 x4, GF256 y4, GF256 x5, GF256 y5)
matrix<GF256> p(5);

e(0,0)=x1*x1;
e(0,1)=x1;
e(0,2)=x1xy1;
e(0,3)=y1;
e(0,4)=ylxy1;

el R lo o]

.e(1,0)=x2%x2;
e(1,1)=x2;
e(1,2)=x2xy2;
e(1,3)=y2;
e(1,4)=y2*y2;

oo Rl Re]

e(2,0)=x3*x3;
e(2,1)=x3;
e(2,2)=x3*y3;
e(2,3)=y3;
e(2,4)=y3x*y3;

oo Biielise Rise]

e(3,0)=x4*x4;
e(3,1)=x4;
e(3,2)=x4xy4;
e(3,3)=y4;

o o oo
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p.e(3,4)=ydxy4;

e(4,0)=x5%x5;
e(4,1)=x5;
e(4,2)=x5xy5;
e(4,3)=y5;
.e(4,4)=yb*y5;

o oo to o

for(int i=0; i<5; i++){
for(int m= i+1l; m < 5 && (int)p.e(i,i)==0; m++){
for(int n=0; n < 5 ;n++){
p.e(i,n)=p.e(i,n)+p.e(m,n);
}
}

GF256 a = p.e(i,i);

if((int)a!=0){
for(int j=0; j<5; j++){
p.e(i,j) = p.e(i,j)/a;
}

for(int k=0; k<5; k++){
if (11=k){
GF256 b = p.e(k,i);
for(int 1=0; 1<5; 1++){
p.e(k,1)=p.e(k,1) - (b*p.e(i,1));
}

}

int line=0;
for(int c=0; c<5;c++){
if ((int)p.e(c,c)==0)
line = c;

}

return(line);

}

GF256 t5(GF256 x1, GF256 yl1, GF256 zl1, GF256 x2, GF256 y2, GF256 z2,GF256 x3, GF256 y3,GF256 z3,
GF256 x4, GF256 y4,GF256 z4, GF256 x5, GF256 y5,GF256 z5)
{

matrix<GF256> p(5);

e(0,0)=x1*x1;
e(0,1)=x1;
e(0,2)=x1xy1;
e(0,3)=y1;
e(0,4)=ylxy1;

el R lo o]

.e(1,0)=x2%x2;
e(1,1)=x2;
e(1,2)=x2xy2;
e(1,3)=y2;
e(1,4)=y2*y2;

oo Rl Re]

e(2,0)=x3*x3;
e(2,1)=x3;
e(2,2)=x3*y3;
e(2,3)=y3;
e(2,4)=y3x*y3;

oo Biielise Rise]

e(3,0)=x4*x4;
e(3,1)=x4;
e(3,2)=x4xy4;
e(3,3)=y4;

o o oo
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p.e(3,4)=y4xy4;

e(4,0)=x5%x5;
e(4,1)=x5;
e(4,2)=x5xy5;
e(4,3)=y5;
.e(4,4)=yb*y5;

o oo to o

int 1 =line(x1,y1,x2,y2,x3,y3,x4,y4,x5,y5);

for(int i=0;i<5;i++){
p.e(i,1)=1;
}

if (p.rank()==5){
cout<<" ("<<x1<<M", "<y 1<), (M <<x2<<M, K<y 2<<M) , (<<x 3L, <y 3<<M)
("<<x4<<M, "<<ya<<M) , ("<<xb<<", "<<yb<<") 0 0 00000 "<<endl;
matrix<GF2566> v(5);
v="p;
GF256 *z = new GF256[5];
z[0]=z1;
z[1]=2z2;
z[2]=z3;
z[3]1=2z4;
z[4]=25;
GF256 S=v.vector(l,z);
cout<<"S="<<S<<endl;
delete z;

return(1);
Yelse{
return(0);
}
}

GF256 t6(GF256 x1, GF256 yl1, GF256 z1,GF256 x2, GF256 y2,GF256 z2, GF256 x3,
GF256 y3,GF256 z3, GF256 x4, GF256 y4,GF256 z4, GF256 x5, GF256 y5,GF256 z5, GF256 x6 ,GF256 y6,GF256 z6)
{

matrix<GF256> p(6);

.e(0,0)=x1%x1;
e(0,1)=x1;
e(0,2)=x1xy1;
e(0,3)=y1;
e(0,4)=ylx*y1;
e(0,5)=1;

oo lieo e B e e}

e(1,0)=x2*x2;
e(1,1)=x2;
e(1,2)=x2xy2;
e(1,3)=y2;
e(1,4)=y2xy2;
e(1,5)=1;

‘o ‘o ‘o oo o

e(2,0)=x3*x3;
e(2,1)=x3;
e(2,2)=x3*y3;
e(2,3)=y3;
e(2,4)=y3*y3;
e(2,5)=1;

heliie R Be Bl e e}

.e(3,0)=x4*x4;
e(3,1)=x4;
e(3,2)=x4*y4;
e(3,3)=y4;
e(3,4)=ydxy4;
e(3,5)=1;

‘o ‘o ‘oo oo

.e(4,0)=x5%*x5;

ae]

38



.e(4,1)=x5;
.e(4,2)=xb*y5;
.e(4,3)=y5;
.e(4,4)=yb*y5;
.e(4,5)=1;

e le Rl Re]

.e(5,0)=x6%*x6;
.e(5,1)=x6;
.e(5,2)=x6%y6;
.e(5,3)=y6;
.e(5,4)=y6%y6;
.e(5,5)=1;

e Bc e Biie s o]

if (p.rank()==6){
cout<<" ("<<x1<<", K<y 1<), (M<K 2K, K<y 2<<M) , (MLx 3L, Ty B, (M<<x4<<M, <y 4<),
("<<xB<L", "KyB<™) , ("<x6<<", "<<y6<<") OO0 00000 "<<endl;
matrix<GF256> v(6);
v="p;
GF256 *z = new GF256[6];
z[0]=z1;
z[1]=22;
z[2]=2z3;
z[3]=z4;
z[4]=25;
z[5]=z6;
GF256 S=v.vector(5,z);
cout<<"S="<<S<<endl;
delete z;
}

return(0) ;

int ch5(int *mem, int ¢ , int i, int j, int k, int 1,int m){
int sn[5]={i,j,k,1,m};

int ans=1;

for(int mn=0;mn<c;mn+=3){
for(int i=0;i<5;i++){
if (sn[il==mem[mn]){
for(int j=i+1;j<5;j++){
if (sn[jl==mem[mn+11){
for(int k=j+1;k<5;k++){
if (sn[k]==mem[mn+2]){
ans=0;

}

}

return(ans) ;

int ch6(int *mem3 , int *mem5 ,int c3 ,int ¢5 , int i, int j, int k, int 1,int m,int n){
int sn[6]={i,j,k,1,m,n};
int ans=1;

for(int mn=0;mn<c3;mn+=3){
for(int i=0;i<6;i++){
if (sn[il==mem3[mn]){
for(int j=i+1;j<6;j++){
if (sn[j]==mem3[mn+1]){
for(int k=j+1;k<6;k++){
if (sn[k]==mem3[mn+2]){
ans=0;
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¥
}
}
}
}
¥
if (ans==1){
for(int mn=0;mn<c5;mn+=5){
for(int i=0;i<6;i++){
if (sn[il==mem5 [mn]){
for(int j=i+1;j<6;j++){
if (sn[jl==mem5 [mn+1]){
for(int k=j+1;k<6;k++){
if (sn[k]==mem5 [mn+2]){
for(int 1=k+1;1<6;1++){
if (sn[1]==mem5 [mn+3]){
for (int m=1+1;m<6;m++){
if (sn[m]==mem5 [mn+4]){
ans=0;
}
}
}
}
¥
}
}
}
¥
}
}
}
return(ans);

int main()

ofstream fileout;
ifstream filein;
int v;

filein.open("share.txt");

filein>>v;

GF256 *x = new GF256[v];

GF256 *y = new GF256[v];

GF256 *z = new GF256([v];

for(int ¢ = 0; ¢ < v; c++){
int xi,yi,zi;
filein>>xi>>yi>>zi;
x[c] = GF256 (xi);
ylc]l = GF256 (yi);
z[c] = GF256 (zi);

}

filein.close();

int *mem3 = new int[105];
int *mem5 = new int[105];

cout«k"OJOOOOOOODO "<v<k"O OO "<<endl;
for(int k = 0 ;k < v ;k++){

cout<<k+1<<"0 000000 DO0O0O0 "<<x[k]<<","<<y[k]<<endl;
}

int ¢3=0;
int c¢5=0;

if (v>=3){
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matrix<GF256> p(3);
for(int i = 0; i < v; i++){
p.e(0,0)=x[i];
p.e(0,1)=y[i];
p.e(0,2)=0;
for(int j = i+1l; j < v; j+8){
p.e(1,0)=x[j];
p.e(1,1)=y[jl;
p.e(1,2)=0;
for(int k = j+1; k < v; k++){
p.e(2,0)=x[k];
p.e(2,1)=y[k];
p.e(2,2)=0;
if (p.rank(O==1){
mem3 [c3*3]=1;
mem3[c3%3+1]=j;
mem3 [c3%3+2] =k;
c3++;
£3(x[i],y[4],204],x[31,y[3],203],x (k] ,y (k] ,z[k]);

}

if (v>=5){
matrix<GF256> p(5);
for(int i = 0; i < v; i++){
p.e(0,0)=x[i]*x[i];
p.e(0,1)=x[il;
p.e(0,2)=x[il*y[i];
p.e(0,3)=y[il;
p.e(0,4)=y[il*y[i]l;
for(int j = i+1; j < v; j++){
p.e(1,0)=x[j1*x[j];
p.e(1,1)=x[jl;
p.e(1,2)=x[jI*xy[j1;
p.e(1,3)=y[jl;
p.e(1,4)=y[jl1*y[jl;
for(int k = j+1; k < v; k++){
.e(2,0)=x[k]*x[k];
.e(2,1)=x[k];
.e(2,2)=x[k]*y[k];
.e(2,3)=y[k];
.e(2,4)=y[k]l*y[k];
or(int 1 = k+1; 1 < v; 1++){
p.e(3,0)=x[1]1*x[1];
p.e(3,1)=x[1]1;
p-e(3,2)=x[11*y[1];
p.e(3,3)=y[1];
p-e(3,4)=y[11*y[1];
for(int m = 1+1; m < v; m++){
p.e(4,0)=x[m]*x[m];
p.e(4,1)=x[m];
p.e(4,2)=x[m]*y[m];
p.e(4,3)=y[m];
p.e(4,4)=y[ml*y[m];
int r = p.rank();
if (r==4)1{
if (ch5(mem3,c3,i,j,k,1,m)==1){
if (¢5(x[il,y[i],z[1],x[31,y 31,2031, ,x[k],y k],
z[k],x[1],y[1],z[1],x[m],y[m],z[m])==1){
mem5 [c5%5]=1i;
memb5 [c5*6+1]=j;
mem5 [c5*5+2] =k ;
mem5 [c5*5+3]=1;
mem5 [c5*5+4] =m;
chb++;

g g o O g
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}

if (v>=6){

matrix<GF256> p(6);

for(int i = 0; i < v; i++){

p.e(0,0)=x[il*x[i];

p.e(0,1)=x[i];
p.e(0,2)=x[i]*y[il;
p-e(0,3)=y[il;
p.e(0,4)=y[il*y[i]l;
p.e(0,5)=1;
for(int j itl; j < vy

p.e(1,0)=x[j1*x[j1;
p.e(1,1)=x[j];
p.e(1,2)=x[jI*y[jl;
p.e(1,3)=y[jl;
p
p
f

j++){

.e(1,4)=y[jlxy[j];

.e(1,5)=1;

or(int k = j+1; k < v; k++){

.e(2,0)=x[k]*x[k];

.e(2,1)=x[k];

.e(2,2)=x[k]*y[k];

.e(2,3)=y[k];

.e(2,4)=y[k]l*y[k];

.e(2,5)=1;

or(int 1 = k+1; 1 < v; 1++){
p.e(3,0)=x[11*x[1];

e(3,1)=x[1];

e(3,2)=x[1]*y[1];

e(3,3)=y[1];

e(3,4)=y[1]1*y[1];

e(3,5)=1;

or(int m = 1+1; m < v; m++){
p.e(4,0)=x[m]*x[m];

p.e(4,1)=x[m];

p.e(4,2)=x[ml*y[m];

p.e(4,3)=y[m];

P

P

f

g g ‘o 'Q Yo

p
P
p
P
p
£

.e(4,4)=y[m]*y[m];
.e(4,5)=1;
or (int n=m+1;n<v;n++){
p.e(5,0)=x[n]*x[n];
e(5,1)=x[n];
e(5,2)=x[n]*y[n];
e(5,3)=y[nl;
e(5,4)=y[nl*y[n];
p.e(5,5)=1;
int r = p.rank();
if (r==6){

P-
P-
p-
P-

}

delete [Ix;

if (ch6(mem3,mem5,c3,c5,i,j,k,1,m,n)==1){
t6(x[il,y[il,z[i],x[j1,y[j1,2[j],x[k],y[k],z[k],
x[11,y[1],z[1],x[m],y[m],z[m] ,x[n]l,y[n],z[nl);
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delete
delete
delete
delete

[Oy;
z;
[Imem3;
[Imem5;
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